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1 class NumAdd {

2 public int add(int x, int y) {

3 return(x + y);

4 }

5

6 public int add(int x, int y, int z) {

7 return(x + y + z);

8 b

9

10 public int add(double x, int y) {

11 return({int) x + y);

12 }

13

14 public int add(int x, double y) {

15 return(x + (int)y);

16 }

17 3}

18

19 public class Main {

20 public static void main(String[] args) {
21 NumAdd na = new NumAdd();

22 System.out.println(na.add(l, 2));
23 System.out.println(na.add(3, 4, 5));
24 System.out.println(na.add(6.7, 8));
25 System.out.println(na.add(2, 16.1));
26 }
27
28 public Main() {
29 super();
3@ }
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1 import sys 1 def Calc(sInput):

2 2 s0utput = "Hello, " + sInput + "!"
3 def Calc(sInput): 3 return(sOutput)

4 sQutput = "Hello, " + sInput + "!® 4

5 return(sOutput) 5 try:

6 6 while(1):

7 sInput = sys.stdin.readline() 7 print{Calc(input()))
8 while (sInput != ""): 8 except (EOFError):

9 sInput = sInput.replace(”\r", "").replace("\n", "") 9 pass

18 print(Calc(sInput))

11 sInput = sys.stdin.readline()
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